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Q2

LM-A

SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS

Two positions of a dice are shown as below,
If the number 6 is exactly opposite to number
4, then which number is exactly opposite to
number 37

(A) 1
®) 2
© 5
D) 6

Deepak left his home and walked 4 km
towards east, then turned lefl and walked 3
km to reach his office. His sister Deepika
left the same home, walked 16 km towards
cast, then turned left and walked 8 km to
reach her college. What is the shortest
distance between the office and the college?
(A) 10km
(B)* 13km
(C) 17km
(D) 18km

Ql

Q2

frefofaa § e o9 & @7 Rufdal
wefta 9 7€ 8 It HWem 4T vEw
& ficge ol 68 o 5 3 7@
THE © fqend TG ¥ @ " 87

(A) 1
(B) 2
(€) 5
(D) 6

quE Sifhw oM @ f A v W
fraeas 4 km T 1 AR T §, R
¢ ¥ T 3 km TOrT ¥ | IHS w8
e #ic oM @ for v W A
Freer@e 16 km qva 9 3R wodi 2, alle
R 4 58 &Y 8 km worch &) iffw
IR Hiets & e ~geem g feeh &2
(A) 10km
(B) 13km
(C) 17km
(D) 18km
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Q3  Ifthe pentagon shown below isrotated anti- Q3 uf fy=ifeifera ¥ wefifa dengw &1 v

clockwise 270° three times, the rhombus is ® HE DI fagde e 9 99 aw 270°
rotated clockwise 45° four times, and the E[HTA AT B Hﬂ?ﬂﬁ? wEl &l ijﬁ-,‘ o
mirror image of the alphabet is used, then foam # @ AR 45° YA W B, 3N
| what is the resulting figure? s @7 Tuv wiofde Sugmr fear s

| g, o gRomd sy @ @ Sefi

(A) .
(A)
‘ (B) ’
(13)
(<)
(D) @
(D)
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Q4 Below is a statement followed by two
conclusions. Read the statement and
conclusions and determine which
conclusion(s) logically follow(s) the statement
given.

Statement:

For late retumn of books by readers, a library
charges penalty of ¥ 10 per day for the
number of days of delay beyond the due date.

Conclusions:
) Penalty for costlier books will be
higher.

i)  Penalty for lighter books will be lesser.

(A) Omlyconclusion | follows

(B) Onlyconclusion Il follows

(C) Eitherconclusion | or I follows
(D) Neither conclusion | nor 11 follows

Q5  Choose an option that is a valid assumption
for the below statement.

Statement:

The Ministry of Railways introduces
additional Holiday Special trains and also
adds extra coaches to existing trains during
vacalions.

(A) During vacations, kids love to travel by
trains instead of acro planes.

(B) Passengertraffic in trains significantly
increases during vacations,

(C) People need change and like 1o see new
trains during vacations

(D) Enginedrivers like to work for more
hours during vacations.

LM-A
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1) W& gwae & g srfds &9
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o @ guE IRy &)

(D) g9 I gfgal # afts o2 am
T UNiE DY Bl
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Q7
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Read the statement below and two courses
of action given. Choose which course(s) of
action need(s) to be taken with regard to the
statement given.

Statement:

Despite having a standard work timing of 10
am to 6 pm, there has been more number of
cases of employees reporting late for work,
which affects the work flow in the factory.

Courses of Action:

. Theemployees must be givena
waming and strict disciplinary action
must be initiated if no improvement is
found.

[I. Thework timing must be made flexible
so that everyone is able to come as
per his or her own convenient time,

(A)
B)
(©)

Only Action | needs to be taken

Only Action 11 needs to be taken
Either Action | or Action Il needs to
be taken

Neither Action | nor Action [l needs to
be taken

(D)

If Puzzle :: Solve, then Essay :: 7. Identify
what can come in place of “7".

(A) Resolve

(B) Dictate

(C) Recite

(D) Write

Q6

VIE0E201

Q7

fr=fafaa Fom 31 ofw 9w e & 1
3! feafRfeEt & 9g | aam & & fRv
T TYE @ ded A 3 & fhafaf
frafaftar sgaE o wfy

S
R D WG JAR Fgaw 10 T
H G 679 0@ 8 D qagE, 9 T
R wEF e g
I & e sam 3 sm-ara wfla
BT B

frafafer:

. THmREl F A § o S afy
HIE quR T g 8, o o Reg
FON IAFUTHATHS Briand) 7
A |

. &R 9 arafd 0 g arfde e
Ul HHER] AT g T
T HH WA D |

(A) daa farmfaf | srord o wandh #

(B) waw frmfafy 11 sroemg on v #

(C) ar oy frarfafey 1 11 agsE o
waar &

(D) = o frafafer 13 = & frafaf 1
AYATE O T #

af2 uiel o e, o Fae 2 fafes
N & yvEfue () & wm
e 4 & & &1 g 3 W &7
(A) Bd

(B) for@arn

(C) Irgar=
(D) fora
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Q8  Select the option that is related to the third
term in the same way as second term is
related to the first term.

Temperature : Thermometer :: Humidity : ?
(A) Spectrometer

(B) Seismometer

(C) Hygrometer

(D) Osmometer

Q9 Inacenain coded language, if “LITMUS”
is written as “SMIUTL" and “INDIGO" is
written as “OINGDI”, then how is the word
*JAGGER’ would be written in that
language?

(A) RGAEGJ
(B) RGIEGA
(C) RGAGEJ
(D) RGIEAG

Q10 Inacertaincoded language, if “TABLE' is
written as “VEDNI' and ‘CHAIR’ is written
as ‘EJEOT”’, then how is the word
‘BENCH' would be written in that
language?

(A) DIPFJ
(B) DGPEJ
(C) DIPEJ
(D) DGPFT

Q11 IfP@Q means P is the husband of Q; JAL
means L is the son of J: and N$M means N
is the brother of M, then which of the below
options definitely states that B is the mother
of A?

(A) A#BSC@D
(B) CSD@A#B
(C) BSCEA@D
(D) D@BHCSA

LM-A

Q8

Q9

Q11

sH g s agT S ol RN T 9
o e 9 Had & forw ave & 9w
e TR I O Halte #)

AHE : aEEe o ardar: ?
(A) Hagriey
(B) #reinfes
(C) wEuMeR
(D) afTEiER

UE @me "Nl # gfd “LITMUS” &)
“SMIUTL" foran wirn & a1 “INDIGO™
&1 “OINGDI” ferar amer &, ot 9¢ 92
A H wE ‘JAGGER' & 99 formn
T

(A) RGAEG)

(B) RGJEGA

(C) RGAGE)

(D) RGIEAG

2 Q10 @ aE W #afX “TABLE’ @1 *VEDNI

feran oem & oo ‘CHAIR' &7 ‘EJEOT?
forar o & o 99 @ W # BENCH'
® Dy foran wmgar?

(A) DIPFJ

(B) DGPEJ

(C) DIPEJ

(D) DGPFT

of PAQ@Af e R Qe uf P §;
JHL @1 3ef & T J &7 g3 L #; 3l NSM
o7 e & 5 M &1 i N &, o FforRem
4 9 # 1 fawen ghiftes o & 5
A A BR?

(A) A#BSC@D

B) CSD@A#B

(C) BSCH#A@D

(D) D@BH#CSA
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Q12 Given below are four statements followed by

Q13

LM-A

four conclusions. Identify which
conclusion(s) definitely follow(s) the given
four statements disregarding the commonly

known facts.

Statements:

All dogs are cats

2. Some cats are tigers
3. Alltigersare lions

4. Nolion is adonkey

Conclusions:

I[) Some catsare dogs
Iy Alllions are tigers
1))
V)

Some donkeys are tigers

Notiger 15 adonkey

(A)
(B)
(C)
(D)

Only conclusion [ follows

Only conclusions [l and TV follow
Only conclusions Il and [ follow
Only conclusions I and IV follow

If the below alphabets are formed as per the
ascending order of their appearance in the
standard alphabet series, then which
meaningful English word can be formed using
the alphabets in 1%, 4® 6" 9% and 16"
position from left?

XUIHQLETBWMRKSAGC
(A) STEAM
(B) WHALE
(C) MEANS
(D) SHAME

11978801

Q12

Q13

fr=farfae § 9 o oin o9d 918
ar fery fav o § )| fafes & & 99
/9 frerd fau o FuEt @& A
w9 W ITEN e B8 99 81 4
AR WY F S aedi § = 8

ey

1. ol g RBfeea &
2. oo ffeear @ &
3, it 9 IR #

4. ®E I Ty T R
forsad:

) wo fafeeat g &
Iy w4 IR 919 8
1) B T 9™ €

[V) g Ty T8 98 &

(A) et frepd | srpavor S 2

(B) @aet Fremy 111 3R 1V argaer &vd
#

(C) Hae s 11 3R (11 IERYT &
e

(D) @aer Py | o IV e &%
8

af fefofta serl @ o avien &
ATHR SRS w H S W, o 4]
¥ ged, 99, v, 9 3R Hioed wre
arel HERT ¥ B G AU IS =
fffer &1 wemen 87

XUIHQLETBWMRKSAGC
(A) STEAM
(B) WHALE
(C) MEANS
(D) SHAME
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Ql5

Q16

Study the below seriesand identify what can
come in the place of “7".

GAS27, IEU35, MIY47, OMA29,
SOE39, USI49, 7

(A) WUMS7?

(B) WWO61

(C) YUMS9

(D) YWN62

Study the below series and identify what can
come in the place of “7".

3947, 4379, 7493, 9734, ?
(A) 9437
B) 7934
(C) 4793
(D) 3947

[fthe symbals “+" and “~" are interchanged,
“x" and “+" are interchanged, and also the
digits “3” and “7" are interchanged, then
what will be the value of the below equation?

83x7-79+63+7
(A) —133

(B) —350

(C) 244

(D) 511

LM-A

Q14

Q15

Q16

frfefiad saen o ud o o1a &R &
TEEd (“77) & WF W P 6 ug
YT |

GAS27, [EU35, MIY47, OMA29, SOE39,
USI49, ?

(A) WUMS57

(B) WWO6I

(C) YUMS59

(D) YWN62

fafoifaa g o 9¢ 3R g R &
TEATE (477) B WIFE U BiF WO
et |

3947, 4379, 7493, 9734, 7
(A) 9437
(B) 7934
(C) 4793
(D) 3947

afe Frfafem wltewr § <+ 8k -
BT TE—gEy W dad famn Wy, x> e
“u I UH-—EN W d5d fQdT WY, qur
T “37 3“7 B N TH-5IR | 95
ferar g o S T e weiERer & 9
1 e

83 x7-T79+63+7
(A) —133

(B) -350

(C) 244

(D) 511
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Q18
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The ages of husband, wife and their son are
inthe ratio of 10 : 9 : 3. To calculate the age
of the son, which of the below pieces of
information is additionally required and
sufficient?

(A) Before 6 years, the age of the son was
20% the age of his mother then.

(B) After 10 years, the sum of the ages of
all three will be 30 more than the sum
of their present ages.

(C) Thedifference between the age of
father and son is more than the
difference between the age of mother
and son.

(D) The sum of the ages of all the three isa
perfect multipleof 11.

The perimeter of a rectangular ground with

comers A, B, C & D is 28 metre. To

calculate the area of the ground, which of

the below pieces of information is additionally

required and sufficient?

(A) The length of the diagonal AC is same
as the length of the diagonal BD,

(B) The sum of the diagonals is 8 metre less
than the perimeter of the rectangle.

(C) The perimeter of the rectangle is greater
than 50% of the area of the rectangle.

(D) Thesum of all the internal angles of the
rectangle is 360°,

10

ETESEITL

Q17 ufty, wwit sfiv S51eh g3 0 3y 1 aFUE

Q18

10:9:38| 93 # 31y 1 TV FA D

fere, Frafafaa 4 @ o @ fFa o

& yfofled w9 A sawmsm w6l @

g ot grm?

(A) 6ad qd, g3 1 Iy 9w wha Sad!
W@ g B 20% o0

(B) 104 arE, H=f A arg 1 9,
I A I B A W 30 3R
BT |

(C) faem 3k ga & wear g &1 3w,
3R g3 @ e WY B I @ IR
2

(D) &1 @ 3y F1 A 11w QY o
g1

A, B, C 3k D #1 ardt simarer fge

&1 9t 28 Arew &) fgm @1 dEwa

ot v @ forg, Frefefae & & g0 3

fw o ) afaRea vy | aEsasm

gt St waia A gpn?

(A) fawel AC & ard s & R 6
famof BD & s &)

(B) amra & Ravll &1 Ao aaa @
aftmmg 9 8 My 9 #)

(C) amast @1 uftwm, amaa & &=9ea 9
50% wifer &)

(D) e & Wil aafes o @ g
360° & |
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Q19

Q20

We need to find the value of *a’ from the

below two equations, if both a and b are

positive integers.

1) 2a+b=22
2) 3a-2b=12

Now, read the below options and select the
one that applies.

(A) OnlyEquation | is sufficient to derive
the value of *a’.

(B) Only Equation 2 is sufficient to derive
the value of ‘a".

(C) Neitherequations | or 2 alone are
sufficient, but both together are required
to derive the value of ‘a’.

(D) The value of *a’ cannot be derived by
any individual equation or even by both
equations combined.

If in a coded language ‘PEASANT" is
written as ‘RQYVYHN", how will
‘RANCHER" be written in the same
language?

(A) PHFFPDL

(B) PLDPHFF

(C) PHFFLDP

(D) PFFHLDP

Q19 aft a3k b D waerE e € @
Frefafaa wftewn @ & 2 &1 W
ST ST BT |

EESSLEEL

Q20

1) 2a+b=22
2) 3a-2b=12

am, frafofan R W@l ssa o
Wt fAwen any 8, e aa Aifag )

(A) ‘a’ 1 "I @i @A & o e
wiravr | yafe &)

(B) ‘a' & WF §E & @ T dad
w2 gata &)

) s FIFaSE & faraa
et WYYl | uafa & s A A
el FAEHI 2 qATE B, 9y <l
wrer ¥ aavaw # |

(D) ‘a’ & A el o v it @
T8 s e o wen &, T 9@
fas 2t witavol A dgm s A A
T8 s fvar o wE £

U @ Wt A 4 ‘PEASANT @)
‘RQYVYHN" feran wrar 8, o 94 a2
a7 3 *RANCHER” & & ferar wme?
(A) PHFFPDL
(B) PLDPHFF
(C) PHFFLDP
(D) PFFHLDP
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Q21

Q22

Q23

Study the given table carefully to answer the
question that follows.

Sale (in crores) of no. of units by four ;

companies (cos.) over the years (yrs).

Co.lyr| 2015 | 2016 | 2017 [2018
A | 1158 857 | 589 |46.6 |
B [150.1 | 763 [ 37.2 | 39.]
Cc | 933 | 695 53.7 |48.9 |
D [i80.6 [ 111.1] 21.2 [33.4

Which company has sold the maximum num-
ber of units over the years?

(A) A

(B) B

(C) C

(D) D

If P+Q impliesP-0Q
P-Q impliesP xQ
P % QimpliesP+Q
P+=QimpliesP+0Q

Which of the following is TRUE?
(A) 1+2-6x3+8=8§
B) 6+2-3x]1+4=]2
(C) 25+6-45%x9+23=18
D) 10+4-3x1+2=5

Find the odd one out of the below geometrical
shapes.

Rhombus, Triangle, Square, Parallelogram,
Rectangle, Trapezium

(A) Rhombus
(B) Triangle

(C) Parallelogram
(D) Trapezium

LM-A
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Q23

ot afasr &1 v 4 o afw
s a1 fAr v gv @ 9aw €

R $ufal g Aed e ad 4 6 78

afre B R (@S )
®/%] 2015 | 2016 | 2017 [2018 |
A | 1158 | 857 | 589 |466
B_|150.1 | 76.3 | 37.2 |39.]
C | 933 | 69.5 | 53.7 | 489
D | 180.6] 111.1| 21.2 |33.4

Row 7o a9 § fvw H90 4 s
we 4 gfiew & fad @0

(A) A
(B) B
(SR
(D) D

afz P+Q 1 e #P.Q,
P—-Qa&r arf 8P x0Q,
PxQa®T 3 8P+ Q,
P=Q@&T ) & P+Q, o

Ffafaa # 9 99 @ oo ¥y 87
(A) 1+2-6x3+8=8

(B) 6+2-3x|+4=]2

(C) 25+6-45x9+23=18

(D) 10+4-3x]1+2=5

Py st st @ Frer
Il @ gEErE B |

wHa, Bapor, af, wie wepjor, e,
A T

(A) Eragie

®) By

(C) wwieR wefa
(D) e T
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Q24 Find the odd one out from the below group

Q25

of names.

Guava, Watermelon, Lettuce, Apple, Kiwi,
Mango, Pear, Pomegranate

(A) Lettuce

(B) Kiwi

(C) Pear

(D) Pomegranate

Study the below diagram and identify the
option that is NOT correct.

Goat

(A) Some lions are nol goats
(B) Some goats are lions
(C) Lions are not singers
(D) Some goats can sing

LM-A
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Q24 Frafafes am wEl 4 @ @@ A
ugE HIf |

e, avaW, HoTe—ga, §e, i), 3,
TR, 3R

(A) HATE—TT
(B) =

(C) =remamd
(D) IR

fy=ifafiEa aE &1 aRgg+ &Y 3N 99
ey &1 997 $¢ W wal A8l 8

(A) BB I @Al T8 &
(B) @Y @Al IR &

(C) IR THE el B
(D) wE saiai mm wFa &
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Q26

Q27

Q28
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SECTION-2 | GENERAL KNOWLEDGE | S0 QUESTIONS

Which of these districts of the state of Uttar
Pradesh does NOT share its border with
Nepal?

(A) Pilibhit

(B) Shravasti

(C) Sitapur

(D) Maharajganj

Which of these districts of Uttar Pradesh lies
on the UP-Bihar border?

(A) Basti

(B) Bulandshahr

(C) Banda

(D) Ballia

Name the national leader who undertook a
marathon walk called ‘padayatra’ from
Kanyakumari to Rajghat in Delhi in 1983.
The intent of the yatra was to renew rapport
with the Indian masses.

(A) Chandrashekhar

(B) LK Advani

(C) Ram Vilas Paswan

(D) V.P.Singh

13419633
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Q26
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TR YR ST T DI 1 e e &
T 1o+t A wren Y wvar 22
(A) Yreirir

(B) smawh

(C) wiarg

(D) mERTTTTS

BTN 9ol &1 D a1 R 9o gy afie
feEm @t i v fee &7

(A) T

(B) geiawee

(C) aiar

(D) afcr

I8 B A I ar & RrE ad 1983
q SIS ¥ dEr el 3 vome
TF "UEAET e ReE gft few
@ A7 g6 T @ Wt WA S
@ W Haw B Tl HT v o)
(A) T=9naw

(B) ©TeTg®r Jraanit

(C) YWfaams grear

(D) §idife
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Q29

Q30

Q31

Name the Indian Prime Minister who
announced in the parliament that he would
implement the Mandal Commission’s
recommendations. This declaration triggered
nation-wide protests in India.

(A) RajivGandhi

(B) V.P.Singh

(C) Chowdhary Charan Singh

(D) Chandrashekhar

Which city in Uttar Pradesh is called *suhaag
nagari” because it is famous for making glass
bangles?

(A) Firozabad

(B) Gorakhpur

(C) Varanasi

(D) Bareilly

Who among these following leaders is also
the head priest of the Gorakhnath Temple
and Math?

{(A) Uma Bharati

(B) YogiAdityanath

(C) Sri SriRavi Shankar

(D) Mahant Paramhans Das

LM-A
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Sarnath, the sacred place where Lord
Buddha delivered his first sermon, is located
very close to which of these cities?

(A) Mathura

(B) Ayodhya

(C) Jhansi

(D) Varanasi

Which part of Uttar Pradesh is famous for
the delicately embroidered sarees called
“Chikankari sarees™?

(A) Moradabad

(B) Lucknow

(C) Meerut

(D) Prayagraj (Allahabad)

Name the poet and saint who wrote
Ramcharitmanas, another version of the
Ramayan,

(A) Ravidas

(B) Surdas

(C) Kalidas

(D) Tulsidas

Name the South Indian King who
vanquished the forces ofthe Dutch East India
Company in 1741 in the battle of Colachel,
(A) VeeraPandya Kattabornman

(B) RajaRajaChola

(C) Marthanda Varma

(D) HaiderAli
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Name the famous warrior begum from the
principality of Awadh, who fought the British
as part of the 1857 mutiny?

(A) Begum Hazrat Mahal

(B) Begum Raziya Sultan

(C) BegumJahanara

(D) Begum Meherunnissa

The first emperor of the Mughal dynasty,
Babur, has written an autobiography in his
native tongue of Chagatai Turkic. What is
the name of this book?

(A) Mughalnama

(B) Babumama

(C) Baburmubarak

(D) Baburbihaya

When Atal Bihari Vajpayee became the
Prime Minister for his first tenure in 1996,
what was the closest approximate duration
ofhis Prime Ministership?

(A) Twodays

(B) Two weeks

(©) Twomanths

(D) Twoyears

LM-A
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Q39 Name the celebrated physician in the count
of King Bimbisara who was the personal
physician of Lord Buddha himself.

(A) Ajathashatry

(B) Sariputta

(C) Jivaka

(D) Rahula

Which of these statements is TRUE with

regard to the poem ‘ Amar Sonar Bangla’

penned by Rabindranath Tagore?

(A) Itwas Tagore's first ever poem.

(B) This poem later was adopted by
Bangladesh as its national anthem .

(C) This poem fetched Tagore the Nobel
Prize.

(D) The poem was a school prayer at
Shantiniketan.

India's 5-year plan system was adopted Q41

from Russia. Name the Russian leader who
first implemented the S-year plan approach
in Russia,

(A) Viadimir Lenin

(B) Joseph Stalin

(C) Leonid Brezhnev

(D) Nikita Khrushchev
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Near which European capital would you find
the Palace of Versailles?

(A) London

(B) Paris

(C) Rome

(D) Brussels

The two famous universities of Oxford and
Cambridge are located in which country?
(A) France

(B) United States of America

(C) United Kingdom

(D) lialy

How many total biosphere reserves are there
in India?

(A) 10

(B) 12

{C) 18

(D) 25

The Dandeli Wildlife Sanctuary is located in
which Indian state?

(A) Kerala

(B) Tamil Nadu

(C) Telangana

(D) Kamataka
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Q46 Inwhich ofthese hill stations would you find

Q48
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the Cheeyapara Waterfalls, Pothamedu View
point and Attukad Waterfalls?

(A) Munnar

(B) Ooty

(C) Kodaikanal

(D) Yercaud

The city of Venice, criss-crossed by canals
and bridges, is located in which country?
(A) Denmark

(B) Scotland

(C) France

(D) Italy

Mount Etna, considered to be the most active
volcano of Europe, is located in:

(A) Portugal

(B) Spain

(C) Greece

(D) lhaly
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Ponmudi is a small hill station in South India.
It is located near which of these cities?
(A) Kozhikode

(B) Madurai

(C) Thiruvananthapuram

(D) Manghuru

Name the city that is the capital of Western
Australia.

(A) Darwin

(B) Perth

(C) Brisbane

(D) Hobart

Article 161 of the Indian Constitution confers
pardoning powers and commutation of
Sentence powers on:

(A) The President of India

(B) The Prime Minister of India

(C) The governors of various states

(D) The ChiefJustice of India

Articles 5 to 11 of the Indian Constitution

deal with which of these aspects?
(A) Citizenshipof India

(B) Languagesin India

(C) Boundaries of Indian states
(D) Education for children
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Q53 AsofApril 2019, who is the Governor of
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the state of Maharashtra?
(A) E.S.L.Narasimhan

(B) C Vidyasagar Rao

(C) Palanisamy Sathasivam
(D) Anandiben Patel

What does article 300A of the Indian

Constitution aim to guarantee?

(A) No person shall be deprived of his
education.

(B) No person shall be deprived of his
marital rights.

(C) No person shall be deprived of his
property.

(D) No person shall be deprived of his
privacy.

Articles 324-329 of the Indian Constitution
deal with which of these aspects?

(A) Elections

(B) Minorities’ protection

(C) Panchayats

(D) Powersof a governor

Currently, what is the highest percentage slab
for the new tax regime called Goods and
Services Tax (GST)?

(A) 18%

(B) 25%

(C) 28%

(D) 32%
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Bezwada Wilson isa social activist who was
awarded the Ramon Magsaysay Award in
2016. What is his sphere of social activity?
(A) Eradication of child labour

(B) Eradication of female infanticide

(C) Eradication of manual scavenging

(D) Eradication of child marriage

With which foreign country is India
collaborating to develop the supersonic
cruise missile called Brah Mos?

(A) France

(B) China

(C) Japan
(D) Russia

Prime Minister Narendra Modi addresses
the nation through his radio broadcast called
‘Mann ki Baat’. When did this program get
aired for the first ime?

(A) October 2014

(B) October 2015

(C) October 2016

(D) October 2017
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United States is the country with the world’s
largest GDP. Which country comes second
in the global GDP ranking?

(A) Japan

(B) Germany

(C) China

(D) India

Abdelaziz Bouteflika, the President of
has resigned in April 2019 bowing
to public pressure,

(A) Sudan

(B) Libya.

(C) Chad

(D) Algeria

Name the new CEO of the International
Cricket Council (ICC) after the Cricket
World Cup 2019.

(A) Sunil Gavaskar

(B) Sharad Pawar

(C) Manu Sawhney

(D) RahulJohri

Name the ex-CEO and MD of Ashok
Leyland who took over as the CEO of Royal
Enfield.

{A) Vinod K. Dasari

(B) Dheeraj Hinduja -

(C) Rajecv Dubey

(D) GV.Prasad
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Name the cricket team that is number 2 in

international test ranking, as per ICC, asof ~

March 2019,
(A) New Zealand
(B) SouthAfrica
(C) Australia
(D) England

Who was chosen as the captain of the Delhi
Capitals team for IPL 2019 season?

(A) Virendra Sehwag

(B) RavichandranAshwin

(C) ShreyasIyer
(D) Shikhar Dhawan

In which state has the National Cancer
Institute (NCI) been set up in early 20187
(A) Rajasthan

(B) Punjab

(C) Haryana

(D) Himachal Pradesh

Which is the leading areca nut producing
state in India?

(A) Kerala

(B) WestBengal

(C) Manipur

(D) Kamataka -
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Q68 Name the 70-year-old lady from Odisha who

Q69
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was awarded the Padmashri award for her
work of preserving of hundreds of types of
paddy seeds throughout her life.

(A) S.Thimmakka

(B) Kamala Pujari

(C) Harika Dronavalli

(D) Muktaben Pankajkumar Dagli

The first areca nut to get the Geographic
Indications (GI) tag is the Sirsi Supari. In
which state is this supari grown?

(A) Kamataka

(B) Bihar

(C) Andhra Pradesh

(D) Odisha

In which town of Uttar Pradesh would one
find the 11 storied Pagal Baba Temple?

(A) Vrindavan

(B) Varanasi

(C) Samath

(D) Chitrakoot
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The tomb of which ofthese ancient emperors
is located in the Sasaram town of Bihar
state?

(A) Bahadur Shah Jafar

(B) Alauddin Khilji

(C) SherShah Suri

(D) Qutb ud-Din Aibak

The area called Bundelkhand comes under

which of these borders?

(A) Uttar Pradesh — Bihar Border

(B) Uttar Pradesh — Madhya Pradesh
Border

(C) Uttar Pradesh— Nepal Border

(D) Uttar Pradesh— Uttarakhand Border

Computer tools such as Word, Excel and
Power Point are products owned by which
of these companies?

(A) Intel

(B) Apple

(C) Microsoft

(D) Google
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Q74 Timothy Donald Cook, popularly known as
Tim Cook, is the Chief Executive Officer

Q75

(CEOQ) of which of these companies?
{A) Google

(B) Twitter

(C) Amazon

(D) Apple

In the context of Microsoft Word, there isa

feature called ‘Gutter Margin'. What is this

feature used for?

(A) Improve the clarity of graphics and
images

(B) Give provision for better document
binding

(C) Improve the clarity of the printed text

(D) Facilitate the insertion of page numbers
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SECTION-3 | GENERAL SCIENCE / ARITHMETIC | 50 QUESTIONS

Deficiency of which mineral causes anaemia?
(A) Magnesium

(B) Iron

(C) Zinc

(D) Lead

Which of the following is a commonly used
chemical method for purifying water?

(A) Hiberation

(B) Excavation

(C) Chlorination

(D) Denitrification

Which of the following is the source of
freshwater?

(A) Ocean

(B) Sea

(C) Brine

O)°Ri R . L

Which of the following is a good source of

vitamin A?

(A) Fishoil
(B) Sugar

(C) Banana
(D) Coconutoil

Sound CANNOT travel through:
(A) Gas

(B) Vacuum

(C) Liquid

(D) Metal
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Which form of energy causes a matchstick
10 ignite into a bright flame when the
matchstick is struck against the match box
surface?

(A) Potential energy

(B) Kineticenergy

(C) Chemical energy

(D) Wind energy

CGS system of measurement units stands
for:

(A) Coulomb, Gauss, Steradian

(B) Celsius, Grade, Second

(C) Centiliter, Gallon, Siemens

(D) Centimetre, Gram, Second

In Electronic Communication Systems, noise
refers to:
(A) unwanted signals that tend to disturb

~ the transmission and processing of

message signals

(B) loud music harming the eardrums
(C) sensation of hearing that is not audible
(D) unwanted sensations that disturb

messages

Which of the following is TRUE about the

process of evaporation?

(A) Iltdoes notdepend upon humidity level.

(B) Itincreases with increase in surface
area.

(C) Itdecreases with increase in wind
speed. '

(D) Itdecreases with increase in
lemperature,

30

Q81

BIEZTIEL

Q82

Q83

Q84

#iftra &1 feeal & weae § o Aifw &)
drelt ewRh & o oot =1 F9 w s
U TR ot ¥ Toaled 89 @1 s
T 87

(A) Rerfersr &t

(B) wfera wwt

(C) wwrafe wal

(D) arg S

W9 gt B CGS wonel] ) Pt
i T gftmmr &2

(A) Hhera, T, w2fsgy

(B) wfewmw, ¥s, ds

(C) wfefaew, fem, iifw

(D) ¥erier, 7m, dae

golaRie Har yorfer ¥ wiv Rt

i ¥ e wefifa s &7

(A) 3m@ifed Rreen o vy Rraen &
VIR 3% GHER 5 48 ST £

(B) Bl ®I JHaM g awen da
GG

(C) W e Fo=Ir it gt dreg 7 &

(D) sraifsa Hagam i |aai F anan
STer &

arefiavol o gfdrar & A i Pt

A ¥ B udl &7

(A) I8 0 & ®R G foly 48

1

(B) g% WaE & & 4 9fE 8 W g
2l

(C) =& &1 &) iy # gfE &9 W e
Wl 8 |

(D) ¥® d9HH # gfg 8 W HE Wi
el

SERIES-A-B




Q85

Q86

Q87

Q88

Q89

Plaster of Paris isa product of:
(A) magnesium

(B) aluminium

(C) calcium

(D) sodium

Which of the following statements is TRUE

about natural rubber?

{A) Itisanatural polymer and possesses
clastic properties,

(B) Itisanartificial polymer and possesses
clastic properties.

(C) Itis nota polymer but possesses elastic
properties.

(D) Itisa natural polymer but does not
possess elastic properties.

Which of the following is a form of calcium
carbonate?

(A) Washing soda

(B) Baking soda

(C) Limestone

(D) Table Salt

Dietary intake of is essential for
the normal functioning of thyroid gland.
(A) sodium

(B) calcium

(C) iodine

(D) potassium

Which microorganism i Penicillin oblained
from?

(A) Amoeba

(B) Vins

(C) Protozoa

(D) Fungi

LM-A

GLITRETL

i1

QB85

Q86

Q87

Q88

Q89

@ 3ite e frafeafaa 4 | ae
0% IO 87

(A) Hfifdram

(B) vegfafras

(C) dfterm

(Dy afaam

WHs Wy & an # frefafaa 4 @

® |/ P HE 87

(A) T8 US Wiphs qgod & AN g
Araer U B §

(B) ¥% s Fm sgaw & o gwd
e T g €

(C) U8 U® aga® 78 &, dfa gwi
draer T )

(D) T8 (& Wiplos TEAD & Al o
draar T 78 B &)

freiferfae % 9 #19 @1 e FaFe
] UH E9 87

(A) dif¥i Her

B) AT HrE

(€) TR

(D) 29 Hiee (75%)

yag (arias) 1R @ W e
& fog smew | Prefafea 4 @ aw
Ha H T 87

(A) wfEas

(B) #fcaram

(C) s+

(D) drefiram

ufafefer fra geefm & gra gon 87
(A) ¥

(B) R

(C) Wi

(D) Fa%
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Q9

Q92

Q93

Which of the following diseases is caused Q90

by the deficiency of vitamin A?
(A) Rickets

(B) Scurvy

(C) Nightblindness

(D) Pellagra

Which of the following diseases is caused Q91

by the deficiency of vitamin B1 (thiamin)?
(A) Rickets

(B) Beriberi

(C) Nightblindness

(D) Pellagra

Which among the following is a vitamin
deficiency disease in which dark red patches
occur on face, neck, hands, calves and feet?
(A) Pellagra
(B) Thyroid
(C) Anemia

(D) Keshan

Blood enters the kidney through the:
(A) renalartery

(B) external iliac artery

(C) axillary artery

(D) uinarartery

Which among the following organs secretes Q%4

bile juice?
(A) Heart
(B) Brain
(C) Kidney
(D) Liver

LM-A

GIZZHaEL

32

fefm A =0 & Frefoften 4 4 @
| T Eew 27

(A) Razw

B) w4

(C) weiteht

(D) ¥&mm

feifm B1 (Reafim) & &0 @
Prafafes & |4 &9 w1 O g &7
(4) Razw
B) #Eh
(C) weiieh
(D) e

Frafofa # Q @ ve Reftm @ a6
® TR B v 9 & forent 98, wd,
B i A W) e e 9 @ goe v
oy #?7

(A) Yemm

(B) wuraifas

(©) v

(D) ¥

e fa 78 & v Preffea 4 9
frw W & wdw wvar &7

(A) 77 gl

B) TN Fforars avh

(C) =i (vfrmad) it

(D) 3 wiftssT (o) g

FrefafRes ot 4 4 25 wsiv A
F w87

(A) ¥=T

(B) wfta=

© T

D) TFa




Q95

Q96

Q97

Q98

LM-A

Which among the following diseases is very .
rare in women as compared 1o its occurrence }F
inmen?
(A) Myopia

(B) Kidney stone

(C) Braintumor

(D) Colour blindness

Q95

Haemoglobin is the protein inside red blood
cells that carries:

(A) oxygen
(B) carbondioxide

(C) nitrogen
(D) ozone

096

Which of the following is equal to
8.13 « 109
(A) 831000
(B) 8310000
(C) 813000
(D) 8130000

When 0.353535... is converted into a
fraction, then the result is:

(A) 2
99

35

100

15

19

!

IDJE

098

(B)

©

i3

Frefafaa & @ @ @ 91 godl A
gest | aftant § ago o9 g &2
(A) Fegfe dw (i)

B) e § gud

(C) #91 PR

(D) avieer (Far wdsaw)

fmrafs ae e SifteEt & aex
& UF W & aw us Frafafas §
fa@1 aga avar 87

(A) dffrar=

(B) @i+ SRalfaass

(C) Arggr

(D) i

Pr=fafaa & @ a o Res
8.13 x 10* & awmae &7

(A) 831000

(B) 8310000

(C) 813000

(D) 8130000

W4 0.353535... ®1 = A aaan o &,
ot uRvmm g gym?

35

99

35

100

15

19

|
(D) %

(A)

(B)

(€)
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Q99 What is the HCF of 2?x3°x 5«7,

2xFPx5xPand 22x3x5x 77

Q99 2*x3x5'x7, 2x3xFPxT AR

29,35 % TS HETH HH qadd

(A) 210 (HCF) 911 &7
(B) 420 {A) 210
(C) 1005 (B) 420
(D) 1050 (C) 1005
(D) 1050

Q100 Solve the following. Q100 Fr=ifeiRan & ga &Y |

) = o >
A 3 @A) 3

g 2
® 3 ® 3
C) = &y 1
© 3 © 3

- z
D 3 @) 3

Q101 U= We, 559 ol & a9t & fores
I8 79 ¥ BIET & | HE g @ |

Q101 A number isas much greater than 55 as it is
lesser than 79, The number is:

(A) 59 (A) 59
B) 63 (B) 63
(C) 65 (C) 65
(D) 67 (D) 67

Q102 The sum of three consecutive numbers is 96. Q102 wmaR §F wEml & A 96 B | &

The greatest among these three numbers is: & el | wae T wen e W a?
(A) 28 2 (A) 28
B) 31 g ®) 31
(©) 33 - (C) 33
(D) 43 (D) 43
LM-A 34 SERIES-A-B




Q103

Which of the options will come in place of

the question mark (7) in the tollowing

equation?

128—:]6:-:3—?x2=l
7T—6x6-3

(A) 16

(B) 49

(C) 60

(D) 128

Q104 1000 boys and 600 girls are examined ina

Q105

Q106

LM-A

test. 43% of the boys and 35% of the girls
passed. The percentage of the number of
candidates who failed is:

(A) 40%

(B) 50%

(C) 58%

(D) 60%

A finishes a work in 9 days and B finishes
the same work in 18 days. In how many
days will they together finish the same work?
(A) 3days
(B) 6days
(C) 8days
(D) 9days

How many minutes will Preethi take to cover
a distance of 500 m, if she runs at a speed
of 30 km/hr?

(A) lmin

(B) 2min

(C) 5min

(D) 6min

¥

TR0y

35

Q103 Fr=fafEa witavw & ywfas (7) &

wiH o i 4 @ 39w Res

MY

128+416x3-7x2
P=bx6-3

{A) 16

(B) 49

(C) 60

D) 128

|

Q104 Tl wdian ¥ 1000 &es 3R 600 wraft

1 e off ot & | et 9 43%
i Tefdal § 9 35% urw B ¥ o
BF a1 BTl & ge gfee
2l

(A) 40%

(B) 50%

(C) 58%

(D) 60%

Q105 A fath &7 9 &7 3 yzr aovan 2 o

B 9%t &M &1 18 27 % gur wven B 3
ST WY e v o & 31 e R
# R A
(A) 3fes
(B) 62
(C) 8fem
(D) 9f&s

Q106 afg MY 30 kmv/hr 5 wfey A St 2, o

¥ 500 m @ T B 77 T § e
I Y

(A) 1min

(B) Zmin

(C) Smin

(D) 6min
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0107

Q108

Q109

Q110

LM-A

Which of the following cars with speed given
below is the fastest?

(A) 90km/hr

(B) 25 mfsec

(C) 1500 m/min

(D) 100 km/hr

A solid right circular cylinder has a radius of
21 cmand heightof 16 cm. What is its curved
surface area?

(A) 2000 cm?

(B) 2002 cm?

(C) 2010cm?

D) 2112em?

Two pipes A and B can fill a tank in 16 hours
and 48 hours respectively. If both the pipes
are opened simultaneously, how much time
will be taken to fill the tank?

(A) 10 hours

(B) 12 hours

(C) 15hours

(D) l6hours

At present, the ratio between the ages of
Vimaland Vinay is4 : 5. After 6 years, Vimal’s
age will be 26 years. What is Vinay’s age at
present?

(A) 20 years

(B) 21 years

(C) 25 years

(D) 30 years

36

Q107 i & 7 nfey areh Fafaies fee |
T B W HR w4 v 87
(A 90km/hr
(B) 25m/sec
(C) 1500 m/min
(D) 100 km/hr

Q108 U% B9 @9 goig doid @l Hodr 21 em
3R g 16 cm & | $H b Hawl (curved
surface) &FHe & A D |
(A) 2000cm?

(B) 2002cm?
(C) 2010cm?
(D) 2112em?

Q109 A 3R B3 uisy et & @ 16 62 aflw
48 ©e, wHI: # W wed 81 afs Tl
WIgY U ARy @i Ry WY Al Sl @
W A e wwa wEm?

(A) 10Ee
B) 1262
(C) 156
(D) 1662

W |
[y

%Qiiﬂﬂﬁﬂﬁﬁfﬁﬂﬁﬁﬁﬂﬂﬁ&]ﬁﬁ
FURT 4: 58| 69T 915 fawa @ oy
26 7 & syt | e i A 6 ang
T 8?7
(A)-20ad
(B) 21 a4
(C) 25a4
(D) 30qd
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QI An accurate clock shows 9 o'clock in the
moming. Through how many degrees would
the hour hand have rotated when the clock
shows 3 o’clock in the afternoon?

(A) 150°
(B) 155°
(C) 175°
(D) 180°

Q112 Ifastraight line intersects the sides AB and
AC of a AABC at D and E respectively

AE
: — )
and is parallel to BC, then AC

AD
EC
AD
DB
AD
AB
DE
BC

(A)

(B)
(©)

(D)

Q113 A system of two linear equations in two
variables is inconsistent if their graphs:
(A) cutthe x axis
(B) cutthe y axis
(C) coincide
(D) do not intersect at any point

Q114 If 0 = 45° then cos? O +sec? 0 =?
(A) 0
(B) |
(C) 2
(D) 2.5

LM-A

PEQGOST |

37

QI & wé1® U8 Hae 9 ao & o9 faamd
B) o odl S B 39w R & @
e # g¥ e faf ov wnfi?
(A) 150°
(B) 155°
(C) 175°
(D) 180°

Q112 afe &< Brfst A ABC & 9t AB aiv
AC #1, ®18 ¥Rl Y1 D 3R E W Fw

Fred & afv 98 BC & waFiae &

AD
EC
AD
DB
AD
AB
DE
BC

(B)
(C)

(D)

21 Ydta wiiewul & o yonel! | 81 W
e ® It 9w

(A) x 38 FIc

B) y e

(C) 37%9 & (coincide)

(D) fowsl ) fifg ov wfredg = @Y

Ql13

ufe 0 =45 8, @ cos? @ +sec? =7
A) 0

®) 1

(©) 2

(D) 2.5

0114
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Q115 Ifthe system 6x—2y =3, kx—y=2hasa
unique solution, then:
(A) k£ #3
(B) k=3
(C) k #4
D) k=4

Q116 The square of any number is divided by 4,
then the remainder is:
(A) 1|
(B) 0
(C) cither 1 orQ
(D) neither | nor 0

(117 While resolving 1500 into two factors, the
possible number of ways is:
(A) 12
(B) 18
(C) 36
(D) 24

Q118 The ratio of Amit’s age and Anu’s age, nine
years ago was 5 : 7. Then 5 years from now,
which of the following CANNOT be the
ratio of their ages?

(A) 13:19
(B) 11:13
(C) 15:16
(D) 21:25

Q119 Each of the interior angles of a cyclic
polygon with ‘n’ sides measures 144°, Then,
the measure of the angle subtended by each
of its side at the geometric centre of the
polygon is:

(A) 30°
(B) 144°
(C) 54°
(D) 36°

LM-A 8

Q1135

Q116

1 4!

CEDeS

Ql17

Q118

Q119

afe womefl 6x -2y =3, kx—y =27 (&
afgfta (gfe) ga & @

(A) k#3

B) k=3

(C) k #4

D) k=4

fedt M wen @& @f o 42 fenfm
e W e 9 awm 87

(A) 1

B) 0

(©) arlar Ao

(D) 71380

1500 =Y @Y 7ur el ¥ e W o
A frnfom fsar o w87

(A) 12

B) 18

(C) 36

(D) 24

A o oga, afte afR I A g W
U S: 7w o ¥a ¥ 5 A Am,
frafafaa d @ &9 | 96 3y &
arquTe AET B wwar 87

(A) 13:19

B) 11:13

(C) 15:16

D) 21:25

'n TRl ATl U A agyel (el
diciie) @ Weld ARG S0 1 AW
144° 8| o, oy @& s @ W
SUE TS AT GRT T T BT P
H1g e wm?

(A) 30°

(B) 144°

(C) 54°

(D) 36°
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0120 If sin® @ ~3sin@+2
cos’ @
(A) 45°
(B) 60°
(C) 30°
D) 0°

= |, then & can be:

Q121 Club A had won 30% of the first 60 matches
it had played in a particular season. Then the
minimum possible number of additional
matches the Club A should play to achieve a
success rate of 44% in that season is:

(A) 15
(B) 20
(C) 30
(D) 25

e §

51

£E

Q122 What was the name of the mission, an antj-
satellite missile test, carried out successfully
by the DRDO on 27 March 2019 from Dr
APJ Abdul Kalam Island launch complex?
(A) Mission Parakram
(B) Mission Shakti
(C) Mission Vikram
(D) Mission Sahas

Q123 What is the application of the GSAT-31
satellite launched by India on 6 February
20197
(A) Earth observation
(B) Navigation
(C) Climate and Environment
(D) Communication

LM-A 39

0120 =f sin’€-3sin€+2:|g‘m o frad

cos’ @
AT ETITY
(A) 45°
(B) 60°
©) 30°
D) 0°

Q121 798 A7 U& o # | 10 gBd 60
A4 A A 30% g ofd &) o T A S
TH A # 44% P a%ear gy sfte
F1 @ forg fes sifRen =peom A
W aifge?
(A) 15
(B) 20
(€) 30
(D) 25

Q122 DRDO gRT 27 wrd 2019 & 8 vfioy

JEA FA™ @Y vaTe gRwe 9,
AEeaES (E-deanme e ghem
fosar wan en, gw MwE @1 S T ar
(A) Pem uwms
B) P wifde
(C) ferm fmm
D) farer wwEw

Q123 6 Bwadl 2019 # wRa gry i sy g

GSAT-3| 9y & Fr=fafam A @ &=
I w87

(A) gedt 1 et

(B) vy gl

(C) wierary R ammav

(D) HaR
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Q124

QI25

LM-A

Name the nuclear-capable surface-to-

suirface intercontinental ballistic missile
developed by the Defence Research and
Development Organisation (DRDO).

(A) Prithvilll

(B) Trishul

(C) Agnis

(D) Barak-8

Which of the following is a part of the
process involved in water cycle?

(A) Evaporation

(B) Sublimation

(C) Freezing

(D) Melting

L

CEBG!

40

Q124 v FqauF 3R @@ @761 (DRDO)

T TR 9 wos o e g
sia—wegida afaRes Waga & am
87

(A) gedl Il

®) faga

(C) aftq 5

(D) a%H-8

Q125 Fr=fafaa 7 | $9  ufba 5e 95 4

e uftvar & va e &
(A) iy
(B) FeuT®
(C) TR
D) Rme
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Q128

Q129

LM-A

SECTION-4 | GENERAL HINDI | 25 QUESTIONS

A U AT A it @) oo o
TET B, T 99 T &\ G 87

(A) TEiaT &

(B) srfergEe

(C) RS

(D) uf¥u=

A7 Rrare B Rl e e @
ol & §U i @1 o mam u= fasw
gfe & aiafa amem?

(A) TTE@E

(B) aelnreea

(C) Yufders

(D) =aHis

freiferiaa 1 1 @19 w1 s 2 87
(A) &
B) 9
©€) =
D) =

Frefoftm 3§ & o9 W @Y Foaaw
8?7

(A) §

(B) an

(C) af

D) T

Q131

Qi32

Q133

Q126 WA ®1¥ WYEN UH, #afEy s mg Q130 O + 3 e v Wiy &1 Sgmen 87

(A) 9T
(B) amfz

(C) qﬁ’e.'

(D) 7o

W fa gae @ SRy &7
(A) FeadrmE

®) o

©)

(D) &8

e wft wfter qo aifes T (-
ara # it arerm-war Feafafa
A 9 5w 97 @ ggm &7

(A) T =gE®

(B) frmfado

(C) waeamES

(D) fremfaaus

weid w9 Rigd @ g g1 -
ar # YaEifea we fdee @ e i
& aferta amgm?

(A) TS

(B) ufRwmomETes

(C) wfardmoy

(D) TS
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Q134

QI35

Q136

Q137

Q138

LM-A

Fr=fafan 4 & o w1 o= wwe &
yataard) &7

(A) =S

(B) d&e

(C) wnferm

(D) werd

fraferfrn # 9 @t w1 fdm gm ad
& ¥

(A) WE-3InTE

(B) wa-¥Ew

(C) -9

(D) wr-414

- wR-gwm @ fay wd
Fd-gm g1

(A) aF-TEd

@) TEd-a

(C) fMra-Fameh

D) g

i §Rat B ufu & aww A
gty @ g uw we waEv )
(A) ¥Rl

@) Rufe

(C) ¥farim

(D) ey

T T8 UF W B o vl & -
Yaifem 97 § 29w gwet 87
(A) T

(B) Mferawor

(€) wwem

(D) e

13818801

Q139

Q140

Q141

Q142

TE T Br— fhw @ few um @
FaTE #?

(A) wfew af=m

(B) ¥ wAM

(C) wfRma

(D) wvre 3@

T a9+ &1 ey et far -
39 W o @ P Tem @ g

e da &

(A) uA T 6 A Al §)

(B) IH wer afi aw Frdf aifte g

(C) ww = f6 ow freTy oifte fs
Iy |

(D) o8 Fw & § oA 7 Frefw
wifter @ w1 &)

fxm Rig @ Wt ot gt @ P

# 9 P g 'l Tl 87

(A) 9% g 9, 950 ¥ W, 3 v §)

(B) §N. G 7w W By

(C) =8, =&, Tew N T & wwH

(D) v, =8 S of B), W @) gde
T &)

et vrETr qErad @ W aef @
g

(A) vf¥d wrs e

B) ufsw &

(C) ¥ga de—eu B

(D) W He
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Q143

Ql44

Q145

Q146

Q147

LM-A

a8 T WE @ - aefe s ed PSGl Frefafm se @ serae Al

e 7y &7

(A) |mas ¥ g afv et i g
(B) = wras A g, 7 wrel 7 g
(C) areiwg T

(D) w1 ¢ A <

fEd witc @ shew @ B o &
e w1 A wEr Tar 27

(A) snfemra

(B) Wi

(C) HfRww

(D) T He

fr=fafar 4 | @ & var gadiem
o el &7

(A) weRoaEE

(B) emeh

(C) shpwrfiard

(D) weRTHTE

&Y &1 uus THER 9H P A oo
(A) = 7o |

(B) TTa ARvE

(C) sRew g

(D) e

fE & 7= weofty e weh 7€ #?
(A) AT IrgWe

(B) @wmTdl STTH

(C) @&H ¥THY

(D) ¥WMeA-N i

43

alr i Ry v ww= (wee w148 -
150) % ST & |

Mega 2aeR 7q @1 qPly 3w
wffm &1 Squifca &war 81 99,
wEiw g o ufm amewer @ e &)
Yioge =mER e @@ @ fag
feaan & | sU9 7= @ @t agdh #)
Yo @f¥ wa gea o am 2
fiorgae e | Hgd @ e #)
9 e ol wiw & Reufadt a0
e 8 Bl | gEe U9 gaw awamEv
@1 i g 8, Rt ol weear @
e & & | o @fde aoe Hes
# e Al i @t @ i s
¢ e gan agcayef star & &
fash od @ Rt @ Atam =l
Fred) | SR —aeeve, e,
prel-ag aift v & foy Hagm
AR T o9 ¥ s §) R
# 7f e o1 apg & o 98 Ao Ree
3 i R wra 78 & [ | feam
e @1 FiEd ¥ et 9
gfE wa @ 7 o # ol W @
T wfdered o wnefieran am ot 8 | g
e o A Sulefy § sferd o
3 andeer vl @ €, R
IR Roftial & fa oo ows iR
v & dra v 3l warg wee wenfie
B £ olr ww T sdgue |
g Bt & | g9 U1 B e 9 BR-A
—BeT afi w3t A wErHy affa aw
o 81 i o geiw v &) 7o il
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21 ¥ T A fota fmar o awe &
qiRaR® Hwbr o 7o o Rsfie ik
fewiRa &3 4 aga s e
Ha wva ¥

Q148 Frafafaa 4 4 &= -1 au9 i 3

Ay ¥ Tera &7

(A) froge =asr § q@e qamEw
w1 b Bwm &)

(B) ¥d t& & 7w #)

(C) wRafts s e & st
¥ A eyl e e §

(D) ¥Mage @aer BIEl-asi 3§ "aE
U ¥ MEIaE B |

Q149 e A ywifeg atn & oftm aren

il

(A) Ma ] g Rar wrn 8

(B) &2 & & fres v M i
wnfie aw o 8

(C) gt dire &1 wyea g & qut @
Frd e a8 g

(D) w81 & farea & agt fa =
W g &

QI50 e # $11 w1 =g gy F fAdm
2?
(A) i
(B) Wi

(C) {wwifda

(D) ST
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Read the following Instructions carefully :

Frsfafea Ardel o) am @ 2 -

1. Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet, The answer once marked is not liahle
to be changed
The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.
. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided,

The candidates will write the correct Test Booklel
Series as given in the Test Booklet in the Attendance
Sheet,

Each candidate must show on demand his / her Adimit

Card to the Invigilator

. No candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
scat.

» The candidates should not leavee the Examination Hall

without handing over their Answer Sheet to the

Invigilator on duty. Cases where a candidate has not

signed on the Attendance Sheet will be deemed not to

have handed over the Answer Sheet and dealt with as

an unfair means case.

8. Use of Pencil/Electronic/Manual Calculator is
prohibited.
9. The candidates are governed by all Rules and

Regulations of the Commission with regard 10 their
conduct in the Examination Hall. All cases of unfair
means will be dealt with ss per Rules and
Regulations of the Commission,

10. Afler Examination is over, candidate has to return his
Answer Sifteet to invigilator, Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall
Candidate is only allowed to take Candidate’s copy of
answer sheet,

11, Candidates are not allowed to take Test Booklet with
them. They bave to submit the Test Booklet 1o the

Imvigilator after the exam.
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